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a’ £2ab +b? = (@ £ b)? a’ £2ab +b? = (a £ b)?
3% M kK% 3 M kRS
D 22 +6x+9 @ 22 +8x+16 @ 2 +4x+4 @ ££-10x+25
@ 22 —14x+49 @ 22 -16x+64 @ £-2x+1 @ 22 +6x+9
® 22 +4x+4 ® 22-12x+36 ® £ +12x+36 ® 22 —18x+81
@ % -10x+25 xZ +18x+81 @ £ -8x+16 o+ 14x+49
© 422 -20x+25 a? + 14ab +49b° © 922 +12x+4 a? — 12ab + 36b°
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a’ £2ab +b? = (@ £ b)? a’ £2ab +b? = (a £ b)?
3% il % - K4 35 4R WA
@ £2+10x+25 @ 22 +6x+9 @ 22 +14x+49 @ £-8x+16
® £-12x+36 @ 22 -8x+16 @ 2-6x+9 @ 22 +4x+4
® 2Z+2x+1 ® 22 —4x+4 ® 22 +18x+81 ® 2-10x+25
@ «% —14x+49 x +16x+64 @ *% -20x+100 o +2x+1
© 422 -12x+9 a® + 10ab + 25b° @ 42°2 +20x+25 a? — 14ab + 49b?




